Morse Code.

A dash is equal to three dots in time. Instructions
The time between dots and dashes in a letter is equal to a dot. Error or Erase ceoccococe
The time between letters in a word is equal to 3 dots.

The time between words is equal to 5 dots. Start of message — ==

End of message o — o —o
The Alphabet- Closing down ce 0 — o0 —

A - N —- Wait c—eoe

B —eeoe (o) —_ — — Message received o —o

c —*—" P o — —o Ready to receive —.—

D — oo Q —_—— Distress Call (SOS) cee _ — e

E . R o — o .

F ce—o S ceoe Punctuation

G — — T _ Full stop (.) o — 0 — o

H coee U oo Comma (,) —_——ee — —

I oo Vv oo o __ Colon (:) —_— — — e

J € — — — w .« Hyphenorda'sh(-) —eo 0o —

K —_ . X oo — Apos.trophe() - — —— —o

L [ J— 1 Y e Fraction (/) — e 0o —o

M - — Z e Break or Equal (=) — oo
Question mark (?) L JE J——

Numerals

1 - — — — — 6 — e Bracket () —_—.—— e —

2 oo — — — 7 —— e Underline o — o

3 co o — 8 e These should bg sent before and after each word or phrase that
are to be underlined of bracketed.

4 LR — 9 e e

5 e o o 0O —-———___

www.ikes.16mb.com





